THIS DOCUMENT CONTAINS PROPRIETARY TO FRONT |7 “reme T &wredaenben T
INFORMATION WHICH IS THE PROPERTY R586 SWITCH/LED PCB
OF QSC AUDIO PRODUCTS, THAT MAY NOT MOUNTED LED MOUNTS FROM INPUT PCB
BE DISCLOSED, REPRODUCED OR USED (SW”CHABLE) ‘ .. ‘
WITHOUT EXPRESS WRITTEN CONSENT FROM | |
QSC AUDIO PRODUCTS. -— 11MA FOR FRONT-MOUNTED M
OP—AMP SUPPLIES . . 338
! ' ! ! ! ! o J509A:1‘ ‘J508A:1 ‘ \15088211 ; < g ‘
> X
oot J J J J J J J QL © ~R_1206 R B ) ¢ S:w2 PANEL—PWR
CHASSIS GND U502:3 | U504:3 U505:3 U501:3 U503:5 U508:3 use75s BT & J509A2 BT Z =< | =2 g Te ‘
SonNEcTon ~33678 | ~TL-g72| ~TL-872 | AL-872 | ar_o7a| o7z | ~T-e74 | 3 — 2 ] J5BBA3 50883 D
D 4 ADD CHASSIS TIE 4TH ORDER HP—100H J J J J . J d 203 =S| B
SIB. GND— - z | - lcm] - J508A:4! J508B:4 n
5 5 |5 | s 5 5 5 . Sy 507, B2y PANEL-SIG
g DUAL-2 217 el | gLt Tlg Tl Tlm Tl 212 J508A:5 | J508B:5 ~3904 8~ T & \
R522 R528 BT e DT DTFe o3 oFR o T M > 3 5 = POLARITY SWITCH
SG1 AAA s °ls | °ls s|° s ° s |° s ° g J50BA'6 | J56BE: ‘ S ‘
C544 ~5.1K < < < < < < < R585 — 6~ | T=¢ [ = POS
@.17% LINE INPUT - PP & J508R7 J508B:7. J; sl |
15pF ~R_ 1206 J588A:8' J508B:8 22y CLIP—LIM LED
XLR—FEM R502 R506 R512 S6-Pos  C507 | cs13 | cs15 - T e LA -
‘ 1} > : A J508A9| J508B:9 sWse1 \
NECINP  AMOO s |A11.3K—0.17| ~11.3K—0.1% 0.220F 0.22uF 0.22uF  0.22uF T e =8 N
v503 N x x J5OBA:105085: 10 NEG ‘
7> POS INP 58 82 82 = ="
T8 0 0
(snl 'Qx s ¢ &< S B m
S e G 3 77 ; ~ l? 7 J7
0 X ol A A2
3 %H—\ BT & ,200p 5 33078
z a O | X
o " <+
[ <
‘ R503 R507 R513
o AN pe A el HI-PASS OUTPUT,
~M1.3K-0.12 | ~11.3K-0.1%
C545 XLR—MALE J507:1
] :
5 ~15pF ] uses wooto =< HF—REF GND
> POWER GND Y
2 2s¥ DUAL—4A  GAIN BUFFER 8 S | L5072
9 ¢ AND LIMITER T CONNECTION t———— =<1 HF—SIGNAL
SUMMED SIGNAL FOR SUBWOOFER 5 = STAR_ GND ,J507:3
-_— Tog4—m—— X _
DUAL-1 - - £ § LIMITER CONTROL slts =3 wrer o0/ C
— 5 @ AZ GAIN INCREASED 6dB TO COMPENSATE FOR SUMMING LOSS A2 3
LINE OUTPUT, XLR—MALE E X T8 € sors psso ) / : — PROCESSING t——*EX MF-SIGNAL
< N o fl-072 J507:5
HIGH PERFORMANCE BALANCED INPUTS SUB GAIN oo Re54 2B LrorEF oD
3 N .
0.775V (+@dBu, 1Vp) FOR > 9 c522 47K DUAL-5 ,Js07:6
. 4TH ORDER HP—100Hz © < It | B LF—SIGNAL
FULL POWER OUTPUT AT 12 0’CLOCK GAIN ~220p ol g
= TEX
R523 DUAL_3 5 § . THERMAL
29 nlx g 502 :
46 oSN ¥ ™ BUS 8 £ MUTE LINE
~5.1K 2506:2 9 3 3906 DEG LM19 HPR 1507:9
.17 LINE INPUT " nisroow 1, ¢ - oy s N,
55C - 1.20 6.76
XLR—-FEM R504 R508 R514 C508 c514 C516 5,,\:’*‘5 obe 65C - 1.67 6.02 J507:10
. 1L 5 . 3 75C - @.97 5.46 — UMIT
\ Ul HH o 3 9 THERM SIGNAL, LOAD 83C — 0.88 5.8 — MUTE =] +15V
veowe 109 2 | A11.3K-0.17%| ~11.3K-0.1% 0.220F @.22uF 0.22uF  0.22uF 257 < pse1 MUST BE WELL BELOW 1WA Bacoks 2@ J510:1
SET DIVIDER TO START 95C - @.75 4.22 1
J504 s 1% - é ~ § ~leK LIMITING BELOW 5.5V THERM ng =15V
POS INP gﬁk ] § e ﬁ e Q7AZ 3906 ngGZK J510:2
b2 I SIG-POS < < ass ZEX1 HF NODE
2 ( 3 g \l_/ <+ u? J7,\2 9506:1 3 <F CLIP PRODUCES ABOUT 15ma LED CURRENT 3 J510:3
B c /¥ S—'& 200 A LM13700M 3 ™ LIMIT PRODUCES ABOUT 3ma LED CURRENT =7 HF-IMON
8 g 8TS 33078 B £, %) J510:4
% % ? v, S 8 SET RESISTOR FOR DESIRED CLIP BRIGHTNESS ng HF_IMON REF
) S
o R505 R509 R515 o DISPLAYS LIMITING < |
’ HI—-PASS OUTPUT’ S16pos R547 R569 Q503 SET CLIP THRESHOLD ON MAIN BOARD EzUZ%TDGpTSSUND 5‘&-10:5
~100 ~11.3K=0.1% | ~11.3K-0.1% FOR APPROX 2.5V PEAK, APPROX 2K—OHM MF—NODE
I C547 XLR_MALE 8 ~18.7k W53 DISABLES LIMITER — ‘*L Mook o 3 6 Js1e:e B
° L re] SOLDER FOR PRODUCTION w503 § 3 1 “E=X"1 MF—IMON
TEST. A
T A R ; - =i MF—IMON REF
SOLDER SWITCH o= s5108 3
SIGNAL—PRESENCE LED DRIVER LF—NODE g
- D502,  ~4148 J510:9
LINE OUTPUT, XLR—MALE < B e | |S
D501 D503 J510:10 |
Pt Pt e LF-
SR IOV LF—IMON REF] N
o527 Ross R574 ~100K e
{ AN——1 st
QUAD—7 47-10NP  ~2.0K | |00
— -
-
s T 4TH ORDER HP—4@Hz LOW FREQ PROCESSING -0 Lo Il
R518 R525 R550 n
A2 x
~15K ~9.1K ~0.0 UAD-8 e @
BOOST Q ~
POS SIGNAL S 2 1 =
so-os  C505 | C506 0 0 l l SIG-POS 2
It It €529 536 <
0.22uF 0.22uF 2.22u 0.22u
R519 T R565 | R568 R580 A
A oK | ~16K  ~15K ~8.2K  ~18K *
X 0.15u
N 5 © S €533 €538
DUAL—-4B J;z BS ™ 8§ 833 0.068UT] 0.047u
L LA 7 Rse3 T
W
R 51K " 4TH ORDER LP, 100HZ
~0.0
SIZE [ FSCM NO. DWG NO, REV
SH—-181002—-00 |A1
SCALE NONE |°AD FILE NO. SH—WBWBOZ—AW.SCH'SHEH 2




8 7 6 J7 2 1
THIS DOCUMENT CONTAINS PROPRIETARY
INFORMATION WHICH IS THE PROPERTY
OF QSC AUDIO PRODUCTS, THAT MAY NOT
BE DISCLOSED, REPRODUCED OR USED
WITHOUT EXPRESS WRITTEN CONSENT FROM RAIL CURRENT REQUIREMENTS.
QSC AUDIO PRODUCTS. 10 TL—072 OPAMP SECTIONS AT 2MA = 20MA
C44 MUST BE ON 0 5532 AT 10MA, PLUS DRIVE CURRENTS 10MA
5—PIN PHOENIX STYLE PCB LAYOUT Ji =4QMA OR SO, AT APPROX 20V = @.8W PER REGULATOR
BUT WILL BE USED ONLY /\j i
1 X 5 PATTERN RIGHT ON FUTURE MODELS U5148
ANGLE W/ SCREWS e D1 wa HIGHER AUX POWER 7815 P0S 15V RAI BE
AC TRANSFORMER TRANSFORMER CT WIRE AND RECTIFIER HAND—SOLDERED 2 . S
XF-000293—-GP 100/120V 60HZ WIRES CONNECT DIRECTLY TO J2. TO SOLDER-SIDE &i I ~ SR1?4—4 20 ) JI'
XF—-000294—GP 230V 50HZ J3B COMES FROM THE TRANSFORMER. OF POWER PCB 8 3 ] b 3 3
i | =
15V=0.5A J38:1 J3:1 F4 D17 FdTIRAYD -
1 = »! sylefaen ] Qled MLlg
= v < P - VN> § o 8 |
J3B:2 J3:2 ~BA Voo [~1BR154—400 < e ' © 3 °T2 ST D
ar e 2 B S%? s Tuts | Cuzs | ¢ ouss
< B : :
AC SWITCH 383 033 S g D18 PR 2
15V-0. = e < SEBA+ © ’ ’
-110VBLUE J21 ~ “BA 1SR154-400 =412
ﬁouNTISD 25A—400V 25A-400V | —55V WHITE = J2:2 P T c® ¢z INTERFACE CABLE
! ! RECTIFIERS 2 iy NEG 15V RAIL TO INPUT PCB INPUT BOARD INTERFACE CABLE
~ — GND
CTBIACK 723 1SR154—40@ oo -
TRANSFORUER 5 s - ——EXJ HF-REF GND
— 78V—4A LM—18 INTERFACE N DEG LM19 Nuch HPR GND 452
:AECCILYL’g 120V OR 230V +55V BROWN J2:5 s R ot b SOURCE 1O ac — 18y 1 o - 18V 6oV 104 il 207 HF=SIGNAL
- WATTAGE = SW POWER SUPPLY zi - 123‘/ 55C — 1.2 4.4V 6.76 THERMAL .
R127 +11@V RED  J2:4 . NEEDS TO MOUNT ON HS  2.7-5.5V AT 100 gog _ 1 auy oox 656 — 107 39V 602 +15V 5 J5:3
39V—4A U4 75C - .97V .&7 '; 75C - 0.97 3.53 5.46—LIMIT ;PAELFESAMLUTE Eg\r/«n 31 MF—REF GND
‘ 190 — 1/74W 10 — 1/74W LM19 B55C - o8y < Ségi Z_:S 347 ,f_:,;z*MmE LOW AT 5V CONNECTS TO OVERCURRENT MUTING HF—NODE A@f - J5:4
c8 c9 95C - 0.75V
H H ‘ = LN T2 5+ 95C — 0.75 2.75V 4.22 D%L :E:\:E(;N £E21  MF—SIGNAL
| or 0.10—250V 0.10—250V S ol ~e® - - 14 MF—NODE U5:5
| NP4 I N le 148 MF—IMON | 5 LF—REF GND
‘ 3 €22% < vz | MF—REF s =
‘ Irel A n = D24 R69 R76 R79 LF—NODE SIG. GND&
7 M339 | 3T3 = §= CFoMON GND)| J5:6
| 39V+4A | o I 1—50vV—10% Z ~4148 ~47K ~47K ~4.7K LF-REF p1 SEXT] LF-SIGNAL
Qa0 J5:
AC CKT BREAKER Ras e & ax b STAR_GNDS "B 1EX] THERMAL
‘ 5A 120V/ 3A 230V | o ASK ~30.1K sesun
78V=4A D25 23@ AT 3V, cuts @ == J5:8
' OFF WHEN =1 MUTE LINE
‘ ‘ "41% "H48 L svisiost Js:9
— —— ——— — — — ——— — ——— x > D b
CHASSIS—MOUNTED PARTS 85% o 1.3 B 5T PWR GND
OUTPUT FUSE SCHEDULE ¢ OT 4 ‘)T 5 e Js:1@
suB, ke i & B +15v c
P
D12 400W MAX—4 OHM = 10A APPROX 1.5 SEC—ON, 48MS—OFF [Ereres] 46:1
TRANSISTOR POWER—GAIN CALCULATIONS. "FT48 © FAULT CURRENT = 20A MIN RUN VOLTAGE APPROX 507 L —1sv
TARGET, 400W—8 OHMS, = 8OV, 10A NOM, 14A PK e EX] 2—-WAY AND 3—WAY J6:2
RAILS, B5V LOADED AT 787, 189V NOM, 125V HI-LINE x -~ [ie=nooe]
XIST PWR, 58V, 6R = 16 /4 1040 PK § S 200W MAX, LF, 8R =5A, ZEX"]  HF NODE
OUTPUT CURRENT, 14A PEAK, BETA = 70, IB = 8.2 - < = .
——BASE CURRENT, APPROX 16@—40@MA (260MA "R") LOW—FREQ AMP, CLASS B QQWLWR;FEELF ;2A= 2.5A MID—FREQ AMP 3
R T etz OUTPUT BIAS APPROX 50mV | 5K FAULT GURRENT = 5A - =3 HP-IMON
R B T LU o2 538 > OUTPUTS ONLY s e L8
—— . 1K, 1. <, dim Y 1 FOR BIAS ADJUSTMENT E="1 HF-IMON REF
R T = =8| %57 3 USED FOR s
ZW = 70V—6MA—50% = : o for=wooe] ks
) ADJUSTMENT 1 ! I3
cas > == Q e STAR GROUND 4 OHM LOAD EX1 MF-NODE
¢ F=Spos swireHep Rall < < SHOULD BE AT HI-FREQ AMP, . J6:6
=1 MF-IMON
OUTPUTS ONLY
a1 ~ Ny POWER SUPPLY USED FOR e e, K7
Yo, 8 = S £X1 MF—IMON REF
s82g 2 < "
A AL CENTER, BTWN 4 OHM LOAD —_—
EEZ23 cAQ c12 EX"1 LF-NODE
ITO LF SIGNAL SH 1 g&:: z i} =2 C14 & C15 ca7 = J6:9
[0 LF SINAL SH 1 SEut i ~33F ; s s = 0 L F—iMON
Eao- — —|
[ VOLTS PEAK 33i: 2SA1837 [2SA1943 [25A1943 zirﬁ_ e |
0388 ohe . 9 LF IMON . J6:10
gLE3 _ las 20 @7 e% EX1 LF—IMON REF
SET CLP 233y eascone M42 N TO LF SPEAKER  “p40 ; g J < < 2—PIN PHOENIX STYLE
FOR 2.8 i 1o REDUGE 100 APPROX 700W R37 3 > kS kS 1 X 2 PATTERN
A A ©_|_ & THERMAL QB 1 5 HAND—SOLDERED SPEAKER WIRE HARNESS
ONSET OF Aok ~2K oT : o 22K e pr TO SOLDER—SIDE BARE WIRE THAT MATES
CLIPPING c48 e 2 < % % o OF POWER PCB TO J4 SCREW TERMINALS
— oy © STAR_GND1 ol ow .
e wonn. TF 34 - - gt . +
APpROX 5T8 Q27 1372 g Qes 3Fs B2 il ORANGE HF DRIVl
efgzj g EXTRA IMON RES aascope VA = cascooe VA = 2 LF—LO BLUE - B
« S AT 140 R38 USED ONLY ON T0 REDUCE N/A TO REDUCE N/A =
s T P THERMAL Q28 TO MF SPEAKER THERMAL Q45 Ja:
- a ~20.0K s VvV 800W SuB DRFT  AN/A Q32 DRIFT AN/A Q49 TO HF SPEAKER HF—HI PURPLE—J
) z 3 ~R_1206 2 MODULE ~N/A - ~N/A APPROX 180W ~N/A - ~N/A /A APPROX 100W 44 s
_Ls 3 — o € R104 R112 s q s
g 5TT v D8 24 R4 ' E="1HF-LO BLACK —— ; H
n ¥ g 371 “BAv21 | S A A e MID—DRIVER
2 S THRU-HOLE BIAS - 5 — IMF—HI RED )
a7 <& R ioLE o 1-MON LEVEL, ~ I-MON LEVEL, J4:6 L= IS)
& i hyy NEXT TO OUTPUTS + ey = : o607 SE=IMF-LO GREEN |
< ) Q2 a < “N/A VPEAK < x VPEAK —
RS< ~3904 gL2 AT 7A n2 AT7A ©
~301K g -55V. © © + 2
~R_ 1206 e =2 , LO-DRIVER 0
- THRU=HOLE BAS AN /A THRU-HOLE BIAS L _ —
c3 ? E < DIODES PLACED b« DIODES PLACED )
m © 3 > NEXT T0 OUTPUTS [ 0> > NEXT TO OUTPUTS & |
zly B g (sl B o 1
NEG SWITCHED RAIL 8 2 793 2 T3 R118 71 n
c2 R6 R13 X - N =0 7
=l ~1MEG c7 - — — R118-121 NOT USED AN /A ~
Vv 1 ON FIRST MODELS.
1210 8.2-1W == mm RIS "R_1206  J7:2
~0.15-200V-10x% Q3 = z
~3904 ~11ov ~N/A <
= ~R_1206 R120 J7:3
V-BE MULTIPLER =) N FE5 s oomonn, unes
X CLAMPS FET DRIVE NA CABLE FOR FUTURE USE
-~ b ;. AT 2D X MULTIPLIER | R
SHORT CIRCUIT DUTY—CYCLE PROTECTION - >N ~ v2:2 = 1.2X 6 = 7.2V NOM Ered RA 1%1 R_1206 4 _ WILL NOT BE STUFFED
WHEN SHORTED, POSITIVE IMON REACHES 70@—8@@MV, DRIVES Q1 LM339 A = ON FIRST MODELS.
WHOSE EMITTER RES LIMITS CURR TO 5@—188UA. IN 16—20MS, THIS py THIS SCHEME SHOULD BE OK N/A
PULLS 0.1UF CAPACITOR BELOW 5V REF. COMPARATOR GOES LOW, WITH REACTIVE LOAD CURRENTS < < ~R_1206 J7:5
DISCHARGES MUTE CAP BY 1V. THE @.1UF CAPACITOR ENFORCES OF LESS THAN 7@z, OR IF DUTY - N © N - 5
APPROX 18MS ONE-SHOT DISCHARGE TIME. MUTE CAP RESETS IN 2 SEC. CYCLE IS LESS THAN 57. ST 2 B=z2 A
TO AVOID TICKLING MUTE THRU ONE—SHOT CAP, C—MUTE >20@ C9. © © M o D ELS .
WHEN AMP IS RUNNING INTO NORMAL LOAD, +2@V OUTPUT APPLIES +@.4V N
T0 EMITER OF Q1. BLAKING IMON SIGRALS. B g 6 J7:6 °
.
HPR131i
HPR181i
SIZE [ FSCM NO. DWG NO. REV
SH—-151001-00| A
NOTES: UNLESS OTHERWISE SPECIFIED SCALE CAD FILE NO. [FET
AN
8 7 6 2 1



WP-181001-00 120V Rev. A

Part Number Description Oty Ref Des
CA-015005-GP _ |15PF, 5 PCNT, 50V, CERAMIC, 0805, 5 |C48, C544, C545, C546, C547
CA-033003-GP  [33PF, 5%, 50V, CC, 0805, 1.2X 2 |c11,cC12
CA-110005-GP ~ |CC 50V 100PF 5% 0805 1.2 1 |Cc548
CA-110007-GP  [100P, 5%, 100V, CTC, 0805, 0/30 1 [ca9
CA-122005-GP ~ |CC 50V 220PF 5% 0805 3 |C45, C522, C6
CA-147006-GP  [470PF 5% 50V CER NPO 4 |C501, C502, C503, C504
CA-233009-GP  [3300P, 5%, 100V, CTC, 1206, 0/30 1 [ca
CA-347007-GP  [.047UF, 5 PCNT, 63V, CM, RBT, 1 |c538
CA-368006-GP  |.068UF, 5 PCNT, 50V, FILM, , 1 [Cc533
CA-382001-GP  [0.082U, 5%, 63V, CM, , RBT, 7.5 3 |C517, C518, C519

CA-410014-GP  |0.1UF 10% 50V CER X7R 0805 15 |C17, C22, C27, C34, C50, C523, C526, C528, C531, C532, C534, C535, C539, C540, C7
CA-410018-GP  |CM 250V .1UF 5% RL 2 |C8,C9

CA-415004-GP  |0.15U, 5%, 63V, CM, , RBT, 7.5X 3 |C521, C524, C525

CA-415006-GP  |.15UF, 5 PCNT, 200V, CC, 1210, 1 |C2

CA-422010-GP  |0.22U, 10%, 50V, CC, 0805, 2 |C10,C30

CA-422011-GP  |0.22U, 5%, 63V, CM, , RBT, 7.5X 14 |C505, C506, C507, C508, C509, C510, C511, C512, C513, C514, C515, C516, C529, C536
CA-510017-GP  |1UF, 20 PCNT, 50V, CC, SMT, 1210 C24,C25

CA-610009-GP  |CE 35V 10UF 20% RL 5 X 11 C35

CA-622010-GP | 22UF, 20%, 35V, CE, , RLT, 5x11 C36

CA-647006-GP  |CE 16NP 47UF 20% RL C1, C520, C527, C537

CA-710013-GP  |100U, 20%, 25V, CE, , 5X11, RLT C530

CA-747009-GP  |470UF, 20%, 16V, CE, , RLT C542, C543

CA-810007-GP  |1000UF, 20%, 25V, CE, , RLT C18, C19

CA-912001-GP

12000UF, 20 PCNT, 63V, CE, RL, ,

C13, C14, C15, C16

CH-000173-GP

COVER, XFMR, STEEL, LARGE

CH-000489-GP

PLATE-SPRING STEEL, , , ,

CH-000490-GP

HEATSINK, 381X189.2X38.1, , HPR,

CH-000549-GP

PANEL, INPUT, , HPR181i,

CH-000550-GP

PANEL, AC, , HPRi,

C0-000058-GP

XLR, CONNECTOR, 3PM, , ,

J501, J502, J505, J506

C0-000204-GP  |CONN XLR F VERT PLASTIC J503, J504
C0-000211-GP  |AC INLET 250V 15A

C0-000213-GP  |CONN 2 PIN STRAIGHT WAFER J509A
C0-000214-GP  |CONN 3 PIN STRAIGHT WAFER J3
C0-000347-GP | TERMINAL BLOCK, 5MM, 5POS(1X5), FEMALE, RIGHT ANGLE J2
C0-000349-GP  |WIRE HOLDER, RIBBON CABLE, 10 POS, FEMALE, J507, J508B, J510
C0-000350-GP  |WIRE TRAP, RIBBON CABLE, 10 POS, FEMALE, RELEASEABLE J5, J508A, J6
C0-000352-GP | TERMINAL BLOCK, 5MM, 2POS (1X2), FEMALE, RIGHT J4
HW-000075-GP  |FUSE HOLDER, , , , , F1
HW-000102-GP  |BRASS POST, D6X10, , , ,

1C-000075-GP IC VOLTAGE REG, +5, LM78L05, SMT, us09
1C-000076-GP IC LM339, SMD COMPARATORS, , , u2
1C-000077-GP IC LM13700M, , , SMT, U506
1C-000078-GP IC LM19, THERMAL SENSOR, , TO-92, ua
1C-000079-GP IC MC33078, OP-AMP, , SMT, U1, Us02
1C-000377-GP IC 7805, REGULATOR, 5V, , us
1C-000378-GP IC LM7915CT, REGULATOR, -15V, , ue
1C-000379-GP IC LM7815CT, REGULATOR, 15V, , us
1C-000380-GP IC TLO72, OPAMP, DUAL, SO-8, U501, U504, U505, U508
1C-000381-GP IC TLO74CD-SO14, OPAMP, QUAD, SO-14, U503, U507
LB-000530-GP PC INLAY, WARNING LABEL, , ,

MS-000073-GP  |FUSE, FAST, ACTING 5A, SMT, 1206, F4, F5
MS-000293-GP  |10A FUSE, QUICK-ACTING, , , F1
NW-000070-GP  |M3, NUT, , ,,

NW-000072-GP  |NUT, HEX, M4, ,

NW-040002-GP

SPRING WASHER M4 X 7

NW-040003-GP

/T WASHER M4X0.4X8, YZ

PC-122001-00

PCB, MAIN, HPR122i, ,,

PC-151002-00

PCB, INPUT, HPR151i, ,,

PL-000066-GP

EVA GASKET, 5X500, , , ,

PL-000152-GP

CABLETIE, ISA

PL-000327-GP

PAD, XFMR, EPDM 40A, 1/8" THK, BLACK,

PL-000391-GP

KNOB, GAIN, HPR SERIES, , ,

PL-000454-GP

INSULATION SHEET IC, , , SILPAD 800, ,

PL-000455-GP

LED HOLDER, LED3-11, , ,,

[RINE R Y RN ) Y P Y SN RN S I S IO Y S LI Y Y Y R IS Y A R Y A S N N Y S Y RO TS N SIS N AT R RN

LD501-1, LD502-1, LD503-1

PL-000456-GP SPRINGSEAT, TRANSISTOR, HPR, NYLON, , 15
PL-000457-GP SPACER, L=4.0, ELM 3, , , 1 |u4
PL-000458-GP SPONGE CUSHION, , , , , 2
PT-110002-GP TRIM, 100, 20 PCNT, 0.15W, , 1 |VR1
PT-250003-GP VR 5K, XVB12111YNPVB25F, , , , 1 |VR501

QD-000201-GP

DIODE LL4148 SM

19 |D10, D11, D12, D20, D24, D25, D27, D30, D38, D501, D502, D503, D504, D505, D506, D507, D508, D509, D8

QD-000204-GP

XISTOR NPN 60V 200MA 3904 SOT-23

11 |Q11, Q16, Q2, Q3, Q37, Q38, Q503, Q504, Q505, Q507, Q6

QD-000205-GP

XISTOR PNP 40V 0.2A TR3906 SOT-23

10 |Q1, Q10, Q17, Q19, Q36, Q39, Q501, Q502, Q506, Q7

QD-000206-GP

DIOD RECT FAST, IN4934 AT

D1, D2, D4, D5

QD-000208-GP

XISTOR PNP 230V 15A 2SA1943

Q12, Q14, Q34, Q51

QD-000209-GP

XISTOR NPN 230V 15A 2SC5200

QD-000227-GP

BRIDGE RECT 400V 25A

BR1, BR2

QD-000260-GP

MOSFET, N-CH, 60V, 52A, 52N06V

4
4
4 |Q13, Q15, Q35, Q52
2
2

Q21, Q22




WP-181001-00 120V Rev. A

Part Number Description Oty Ref Des
QD-000300-GP  |LED SC, 2.9 X 5.4 XL 05 BL, ,, , , 1 |LD502
QD-000301-GP  |LED, 3MM, GREEN SP, , , , 1 [LD503
QD-000302-GP  [LED SP,2.9X5.4 XL0.5RED, ,,,, 1 [LD501
QD-000303-GP  |DIODE, BAV21WS 250V, |, , , 3 |D3, D6, D9
QD-000304-GP  |DIODE, MUR8B10 RL 8A, , , ,, 2 |D13,D15
QD-000305-GP  |DZ 1/2W, 6.2VB RLZ6.2B, , , , SMT, 2 |D14,D7
QD-000306-GP  |DZ 1/2W, 7.5VB RLZ7.5B LL, , , , SMT, 1 D26
QD-000307-GP  [SMD DIODE, ISR154-400, , , , , 6 |D16, D17, D18, D19, D36, D37
QD-000308-GP  [TR MMBTA42 NPN SMD, , , , , SOT-23, 2 [Q20,Q5
QD-000309-GP  |TR 2SA1837, 100-320RL, , , , , 1 Q4
QD-000310-GP  |TR 25C4793, 100-320-RL, , , , , 1 Q9
QD-000311-GP  |TR MMBTA92 SOT 23KEC, , , , ,, 2 |Q18,Q8
RE-.01002-GP  |0.1R, 5 PCNT, 2W, RMF, ATS METAL, 12 |R111, R114, R25, R26, R27, R28, R29, R30, R41, R42, R70, R73
RE-.82001-GP (8.2 OHM, 1W, 5 PCNT, AT, RMF, 1 [R6
RE-000003-GP  |RMG 1/10W 0 OHM 5% 0805 4 |R530, R545, R550, R551
RE-001009-GP |10 1% 1/8W THK FLM 1206 2 |R584, R585
RE-001012-GP  |100HM, 1/4W, 1%, AT, RMF, 2 |R126,R127
RE-001013-GP |10, 1 PCNT, 1/10W, THICK FILM, 0805, 1 |R128
RE-004753-GP  |RMG 1/10W 47.5 OHM 1% 0805 4 |R21, R22, R23, R24

RE-147002-GP

4.7K 1% 1/10W THK FLM 0805

R39, R56, R66, R79, R97

RE-151006-GP

5.1K, 1 PCNT, 1/10W, THICK FILM, 0805,

R522, R523, R528, R529, R588, R589

RE-010011-GP  |100 1% 1/10W THK FLM 0805 100V 13 |R14, R15, R19, R20, R502, R503, R504, R505, R537, R538, R558, R559, R576
RE-015008-GP  |150, 1 PCNT, 1/10W, THICK FILM, 0805, 1 |R587
RE-033001-GP  |330 OHM, 1 PCNT, 1/10W, RMG, 0805, 2 |R531, R532
RE-034801-GP  |348R, 1 PCNT, 1/10W, RMG, 0805, 1 |R8
RE-047012-GP  |470, 1 PCNT, 1/10W, THICK FILM, 0805, 1 |R77
RE-063405-GP  |634 OHMS 1% 1/10W 0805 1 |R567
RE-091002-GP  |910R, 1 PCNT, 1/10W, RMG, 0805, 6 |R11, R12, R123, R17, R18, R9
RE-110702-GP  |1.07K, 1 PCNT, 1/10W, RMG, 0805, 2 |R575, R578
RE-112001-GP  |RMG 1/10W 1.2K 1% 0805 3 |R510, R516, R517
RE-115008-GP  |1.5K, 1 PCNT, 1/10W, THK FLM, 0805, 100V 1 |R543
RE-120004-GP  |RMG 1/10W 2K 1% 0805 1 |R566
RE-122010-GP  |2.2K 1% 1/10W THK FM 0805 100V 1 |R16
RE-124001-GP  |2.4K, 1 PCNT, 1/10W, RMG, 0805, 2 |R2,R35
RE-130103-GP  |RMG 1/10W 3.01K 1% 0805 1 |R33
RE-139006-GP  |3.9K, 1 PCNT, 1/10W, THICK FILM, 0805, 6 |R535, R540, R541, R552, R560, R579
RE-143202-GP  |4.32K, 1 PCNT, 1/10W, RMG, 0805, 1 |R557
5
6
1
2
1
1
2
2

RE-152302-GP  |5.23K, 1 PCNT, 1/10W, THICK FILM, 0805, R573
RE-159003-GP  |5.9K 1% 1/10W THK FLM 0805 R96, R98
RE-164901-GP  |6.49K, 1 PCNT, 1/10W, RMG, 0805, R48
RE-169802-GP  |6.98K, 1 PCNT, 1/10W, THK FLM, 0805, 100V R546
RE-182007-GP  |8.2K, 1 PCNT, 1/10W, THICK FILM, 0805, R533, R577
RE-191001-GP  |9.1K, 1 PCNT, 1/10W, RMG, 0805, R525, R562

RE-210007-GP

10K 1% 1/10W THK FLM 0805

R1, R122, R3, R520, R521, R526, R527, R565, R572, R582

RE-211305-GP

11.3K .1% 1/10W RMG 0805

R506, R507, R508, R509, R512, R513, R514, R515

RE-410003-GP

1M 1% 1/10W RMG 0805

R13, R55, R84, R99

SC-000081-GP

T3X8MM, SELF TAPPING, , , ,

8
RE-212003-GP 12K 1% 1/10W THK FLM 0805 100V 1 |R7
RE-212004-GP 12K, 1 PCNT, 1/8W, THICK FILM, 1206, 1 |R586
RE-212703-GP 12.7K, 1 PCNT, 1/10W, THICK FILM, 0805, 2 |R501, R511
RE-213005-GP  |13K, 1 PCNT, 1/10W, RMG, 0805, 3 |R36, R89, R90
RE-215003-GP 15K, 1 PCNT, 1/10W, RMG, 0805, 1 |R518
RE-218006-GP 18K, 1 PCNT, 1/10W, THICK FILM, 0805, 2 |R564, R580
RE-218702-GP 18.7K, 1 PCNT, 1/10W, THICK FILM, 0805, 2
RE-220005-GP  |RMG 1/10W 20K 1% 0805 2 |R539, R556
RE-220006-GP 20K, 1 PCNT, 1/10W, THICK FILM, 1206, 1 |R38
RE-222001-GP  |22K 1% 1/10W 0805 4 |R32, R34, R37, R568
RE-226101-GP 26.1K, 1 PCNT, 1/10W, RMG, 0805, 1 |R4
RE-227001-GP 27K 1% 1/10W 0805 1 |R571
RE-230006-GP 30K, 1 PCNT, 1/10W, THICK FILM, 0805, 1 |R519
RE-230104-GP 30.1K 1% 1/8W RMG 1206 2 |R40,R5
RE-230105-GP 30.1K, 1 PCNT, 1/10W, THICK FILM, 0805, 1 |R53
RE-236001-GP 36K, 1 PCNT, 1/10W, RMG, 0805, 1 |R544
RE-239204-GP 39.2K, 1 PCNT, 1/10W, THICK FILM, 0805, 3 |R555, R570, R581
RE-243001-GP 43K, 1 PCNT, 1/10W, RMG, 0805, 1 |R524
RE-247006-GP 47K 1% 1/10W THK FLM 0805 100V 3 |R554, R69, R76
RE-251001-GP 51K, 1 PCNT, 1/10W, RMG, 0805, 1 |R563
RE-291001-GP 91K, 1 PCNT, 1/10W, RMG, 0805, 1 |R583
RE-310007-GP 100K 1% 1/10W THK FLM 0805 2 |R569, R574
RE-310008-GP 100K 1% 1/8W THK FLM 1206 4 |R10, R31, R83, R92
RE-315006-GP 150K, 1 PCNT, 1/10W, THICK FILM, 0805, 2 |R536, R553
RE-320006-GP 200K, 1 PCNT, 1/10W, THICK FILM, 0805, 1 |R590
RE-349901-GP 499K 1% 1/8W THICK FILM 1206 1 |R82

4

6

6

SC-000082-GP

SCREW, BIND, HEAD, M3.2 X 8, , B-TITE,

SC-000083-GP  |SCREW, BIND, HEAD, M3.5 X 16, , B-TITE, 10
SC-000084-GP  |SCREW, BIND, SERRATED HEAD, M4X25, B-TITE, 4
SC-000085-GP  |SELF SCREW, 3X8, WITH, SERRATED HEAD, , , 6
SC-000086-GP ~ |SCREW, M8X101.5, BZ, , , , 1




WP-

181001-00 120V Rev. A

Part Number

SC-030002-GP

Description

Qty

Ref Des

M3 B-TITE FLAT-CS

SC-030004-GP

M3 X 8 BLK MACHINE

SC-040001-GP

SCREW M4-18 X 10MM, BLK ZN

SW-000088-GP

ROCKER POWER SWITCH

SW-000093-GP

CIRCUIT BREAKER, 5 AMP, ,

SW-000122-GP

SWITCH, 1P2T, ,

SW502

SW-000123-GP

SWITCH, 2P2T, ,

SwW501

WC-000188-GP

SLEEVE, PVC, 5MM ID, BLK

WC-000339-GP

JUMPER, BARE, 18GA, SOLID, HPR, ,

W1, W2, W3, W4, W5, W6, W7, W8

WC-000410-GP

UL1672, AWG#18, BROWN, , , , ,

WC-000411-GP

UL1672, AWG#18, BLUE, , , , ,

WC-000412-GP

GRND WIRE, UL1015 #14, , , , ,

WC-000413-GP

WIRE-FLAT, 10P P1.5 #26, , , , ,

J507, J508B, J510

WC-000423-GP

SHRINKAGE TUBE, ID=6MM, UL, ,,,,

XF-000293-GP

POWER TRANSFORMER, 120V, , , , HPR SERIES, ,

R RN IR




WP-181001-02 230V Rev. A

Part Number Description Oty Ref Des
CA-015005-GP | 15PF, 5 PCNT, 50V, CERAMIC, 0805, 5 |C48, C544, C545, C546, C547
CA-033003-GP  |33PF, 5%, 50V, CC, 0805, 1.2X 2 |c11,c12
CA-110005-GP  |CC 50V 100PF 5% 0805 1.2 1 |Cs48
CA-110007-GP  |100P, 5%, 100V, CTC, 0805, 0/30 1 [ca9
CA-122005-GP  |CC 50V 220PF 5% 0805 3 |C45,C522,C6
CA-147006-GP  |470PF 5% 50V CER NPO 4 |C501, C502, C503, C504
CA-233009-GP  |3300P, 5%, 100V, CTC, 1206, 0/30 1 [ca
CA-347007-GP  |.047UF, 5 PCNT, 63V, CM, RBT, 1 |Cs38
CA-368006-GP  |.068UF, 5 PCNT, 50V, FILM, , 1 |Cc533

3

CA-382001-GP

0.082U, 5%, 63V, CM, , RBT, 7.5

C517, C518, C519

CA-410014-GP 0.1UF 10% 50V CER X7R 0805 15 |C17, C22, C27, C34, C50, C523, C526, C528, C531, C532, C534, C535, C539, C540, C7
CA-410018-GP CM 250V .1UF 5% RL 2 |C8,C9

CA-415004-GP 0.15U, 5%, 63V, CM, , RBT, 7.5X 3 |C521, C524, C525

CA-415006-GP .15UF, 5 PCNT, 200V, CC, 1210, 1 |c2

CA-422010-GP 0.22U, 10%, 50V, CC, 0805, 2 |C10,C30

CA-422011-GP 0.22U, 5%, 63V, CM, , RBT, 7.5X 14 |C505, C506, C507, C508, C509, C510, C511, C512, C513, C514, C515, C516, C529, C536
CA-510017-GP 1UF, 20 PCNT, 50V, CC, SMT, 1210 C24, C25

CA-610009-GP CE 35V 10UF 20% RL 5 X 11 C35

CA-622010-GP 22UF, 20%, 35V, CE, , RLT, 5x11 C36

CA-647006-GP CE 16NP 47UF 20% RL C1, C520, C527, C537

CA-710013-GP 100U, 20%, 25V, CE, , 5X11, RLT C530

CA-747009-GP  |470UF, 20%, 16V, CE, , RLT C542, C543

CA-810007-GP 1000UF, 20%, 25V, CE, , RLT C18, C19

CA-912001-GP

12000UF, 20 PCNT, 63V, CE, RL, ,

C13, C14, C15, C16

CH-000173-GP

COVER, XFMR, STEEL, LARGE

CH-000489-GP

PLATE-SPRING STEEL, , , ,

CH-000490-GP

HEATSINK, 381X189.2X38.1, , HPR,

CH-000549-GP

PANEL, INPUT, , HPR181i,

CH-000550-GP

PANEL, AC, , HPRI,

C0-000058-GP

XLR, CONNECTOR, 3PM, , ,

J501, J502, J505, J506

CO-000204-GP  |CONN XLR F VERT PLASTIC J503, J504
C0-000211-GP  |AC INLET 250V 15A

CO0-000213-GP  |CONN 2 PIN STRAIGHT WAFER J509A
C0-000214-GP ~ |CONN 3 PIN STRAIGHT WAFER J3
CO0-000347-GP  |TERMINAL BLOCK, 5MM, 5POS(1X5), FEMALE, RIGHT ANGLE J2
C0-000349-GP  |WIRE HOLDER, RIBBON CABLE, 10 POS, FEMALE, J507, J508B, J510
CO-000350-GP  |WIRE TRAP, RIBBON CABLE, 10 POS, FEMALE, RELEASEABLE J5, J508A, J6
C0-000352-GP  |TERMINAL BLOCK, 5MM, 2POS (1X2), FEMALE, RIGHT J4
HW-000075-GP  |FUSE HOLDER, ,,,, F1
HW-000102-GP  |BRASS POST, D6X10, , , ,

1C-000075-GP IC VOLTAGE REG, +5, LM78L05, SMT, Us09
1C-000076-GP IC LM339, SMD COMPARATORS, , , u2
1C-000077-GP IC LM13700M, , , SMT, U506
1C-000078-GP IC LM19, THERMAL SENSOR, , TO-92, U4
1C-000079-GP IC MC33078, OP-AMP, , SMT, U1, U502
1C-000377-GP IC 7805, REGULATOR, 5V, , u3
1C-000378-GP IC LM7915CT, REGULATOR, -15V, , ue
1C-000379-GP IC LM7815CT, REGULATOR, 15V, , uUs
1C-000380-GP IC TLO72, OPAMP, DUAL, SO-8, U501, U504, U505, U508
1C-000381-GP IC TLO74CD-SO14, OPAMP, QUAD, SO-14, U503, U507
LB-000530-GP PC INLAY, WARNING LABEL, , ,

MS-000073-GP FUSE, FAST, ACTING 5A, SMT, 1206, F4, F5
MS-000293-GP  |10A FUSE, QUICK-ACTING, , , F1
NW-000070-GP (M3, NUT, , ,,

NW-000072-GP  |NUT, HEX, M4, ,

NW-040002-GP

SPRING WASHER M4 X 7

NW-040003-GP

I/T WASHER M4X0.4X8, YZ

PC-122001-00

PCB, MAIN, HPR122i, , ,

PC-151002-00

PCB, INPUT, HPR151i, , ,

PL-000066-GP

EVA GASKET, 5X500, , , ,

PL-000152-GP

CABLETIE, ISA

PL-000327-GP

PAD, XFMR, EPDM 40A, 1/8" THK, BLACK,

PL-000391-GP

KNOB, GAIN, HPR SERIES, , ,

PL-000454-GP

INSULATION SHEET IC, , , SILPAD 800, ,

PL-000455-GP

LED HOLDER, LED3-11, , , ,

(AR N N N A N N N N S I N RN N RN N NN RN SN RS ISR R

LD501-1, LD502-1, LD503-1

PL-000456-GP |SPRINGSEAT, TRANSISTOR, HPR, NYLON, , 15

PL-000457-GP |SPACER, L=4.0, ELM 3, , , 1 |ua

PL-000458-GP |SPONGE CUSHION, , . , 2

PT-110002-GP | TRIM, 100, 20 PCNT, 0.15W, , 1 |VRL

PT-250003-GP _|VR 5K, XVB12111YNPVBZ25F, , , , 1 |VR501

QD-000201-GP _ |DIODE LL4148 SM 19 |D10, D11, D12, D20, D24, D25, D27, D30, D38, D501, D502, D503, D504, D505, D506, D507, D508, D509, D8
QD-000204-GP | XISTOR NPN 60V 200MA 3904 SOT-23 11 |Q11, Q16, Q2, Q3, Q37, Q38, Q503, Q504, Q505, Q507, Q6

QD-000205-GP

XISTOR PNP 40V 0.2A TR3906 SOT-23

Q1, Q10, Q17, Q19, Q36, Q39, Q501, Q502, Q506, Q7

QD-000206-GP _ |DIOD RECT FAST, IN4934 AT 4 |D1, D2, D4, D5
QD-000208-GP | XISTOR PNP 230V 15A 2SA1943 4 |Q12, Q14, Q34, Q51
QD-000209-GP | XISTOR NPN 230V 15A 25C5200 4 |Q13, Q15, Q35, Q52
QD-000227-GP _ |BRIDGE RECT 400V 25A 2 |BRL, BR2
QD-000260-GP _|MOSFET, N-CH, 60V, 52A, 52N06V 2 |Qat, Q22
QD-000300-GP|LED SC, 29 X 5.4 XL 0.5BL, , ,,, 1 |LD502
QD-000301-GP _ |LED, 3MM, GREEN SP, , ,, 1 |LD503




WP-

181001-02 230V Rev. A

Part Number Description Ref Des
QD-000302-GP  |LED SP, 2.9 X 5.4 XL 0.5 RED, , , , LD501
QD-000303-GP | DIODE, BAV21WS 250V, |, , , D3, D6, D9
QD-000304-GP  |DIODE, MUR810RL 84, |, , , D13, D15
QD-000305-GP  |DZ 1/2W, 6.2VB RLZ6.2B, , , , SMT, D14, D7
QD-000306-GP  |DZ 1/2W, 7.5VB RLZ7.5B LL, , , , SMT, D26
QD-000307-GP | SMD DIODE, ISR154-400, , , , , D16, D17, D18, D19, D36, D37
QD-000308-GP  |TR MMBTA42 NPN SMD, , , , , SOT-23, Q20, Q5
QD-000309-GP | TR 2SA1837, 100-320 RL, , , , , Q4
QD-000310-GP | TR 25C4793, 100-320-RL, , , , , Q9
QD-000311-GP | TR MMBTA92 SOT 23 KEC, , , , , , Q18, Q8
RE-.01002-GP  [0.1R, 5 PCNT, 2W, RMF, ATS METAL, R111, R114, R25, R26, R27, R28, R29, R30, R41, R42, R70, R73
RE-.82001-GP  |8.2 OHM, 1W, 5 PCNT, AT, RMF, R6
RE-000003-GP  |RMG 1/10W 0 OHM 5% 0805 R530, R545, R550, R551
RE-001009-GP |10 1% 1/8W THK FLM 1206 R584, R585
RE-001012-GP  [100HM, 1/4W, 1%, AT, RMF, R126, R127
RE-001013-GP |10, 1 PCNT, 1/10W, THICK FILM, 0805, R128

RE-004753-GP

RMG 1/10W 47.5 OHM 1% 0805

R21, R22, R23, R24

RE-010011-GP

100 1% 1/10W THK FLM 0805 100V

R14, R15, R19, R20, R502, R503, R504, R505, R537, R538, R558, R559, R576

RE-015008-GP 150, 1 PCNT, 1/10W, THICK FILM, 0805, R587

RE-033001-GP 330 OHM, 1 PCNT, 1/10W, RMG, 0805, R531, R532

RE-034801-GP 348R, 1 PCNT, 1/10W, RMG, 0805, R8

RE-047012-GP 470, 1 PCNT, 1/10W, THICK FILM, 0805, R77

RE-063405-GP 634 OHMS 1% 1/10W 0805 R567

RE-091002-GP 910R, 1 PCNT, 1/10W, RMG, 0805, R11, R12, R123, R17, R18, R9
RE-110702-GP 1.07K, 1 PCNT, 1/10W, RMG, 0805, R575, R578

RE-112001-GP RMG 1/10W 1.2K 1% 0805 R510, R516, R517
RE-115008-GP 1.5K, 1 PCNT, 1/10W, THK FLM, 0805, 100V R543

RE-120004-GP RMG 1/10W 2K 1% 0805 R566

RE-122010-GP 2.2K 1% 1/10W THK FM 0805 100V R16

RE-124001-GP 2.4K, 1 PCNT, 1/10W, RMG, 0805, R2, R35

RE-130103-GP RMG 1/10W 3.01K 1% 0805 R33

RE-139006-GP 3.9K, 1 PCNT, 1/10W, THICK FILM, 0805, R535, R540, R541, R552, R560, R579
RE-143202-GP 4.32K, 1 PCNT, 1/10W, RMG, 0805, R557

RE-147002-GP

4.7K 1% 1/10W THK FLM 0805

R39, R56, R66, R79, R97

RE-151006-GP

5.1K, 1 PCNT, 1/10W, THICK FILM, 0805,

R522, R523, R528, R529, R588, R589

RE-152302-GP 5.23K, 1 PCNT, 1/10W, THICK FILM, 0805, R573
RE-159003-GP 5.9K 1% 1/10W THK FLM 0805 R96, R98
RE-164901-GP 6.49K, 1 PCNT, 1/10W, RMG, 0805, R48
RE-169802-GP 6.98K, 1 PCNT, 1/10W, THK FLM, 0805, 100V R546
RE-182007-GP 8.2K, 1 PCNT, 1/10W, THICK FILM, 0805, R533, R577
RE-191001-GP 9.1K, 1 PCNT, 1/10W, RMG, 0805, R525, R562

RE-210007-GP

10K 1% 1/10W THK FLM 0805

R1, R122, R3, R520, R521, R526, R527, R565, R572, R582

RE-211305-GP

11.3K .1% 1/10W RMG 0805

R506, R507, R508, R509, R512, R513, R514, R515

RE-212003-GP 12K 1% 1/10W THK FLM 0805 100V R7
RE-212004-GP 12K, 1 PCNT, 1/8W, THICK FILM, 1206, R586
RE-212703-GP 12.7K, 1 PCNT, 1/10W, THICK FILM, 0805, R501, R511
RE-213005-GP 13K, 1 PCNT, 1/10W, RMG, 0805, R36, R89, R90
RE-215003-GP 15K, 1 PCNT, 1/10W, RMG, 0805, R518
RE-218006-GP 18K, 1 PCNT, 1/10W, THICK FILM, 0805, R564, R580
RE-218702-GP 18.7K, 1 PCNT, 1/10W, THICK FILM, 0805,

RE-220005-GP RMG 1/10W 20K 1% 0805 R539, R556
RE-220006-GP 20K, 1 PCNT, 1/10W, THICK FILM, 1206, R38
RE-222001-GP 22K 1% 1/10W 0805 R32, R34, R37, R568
RE-226101-GP 26.1K, 1 PCNT, 1/10W, RMG, 0805, R4
RE-227001-GP 27K 1% 1/10W 0805 R571
RE-230006-GP 30K, 1 PCNT, 1/10W, THICK FILM, 0805, R519
RE-230104-GP 30.1K 1% 1/8W RMG 1206 R40, RS
RE-230105-GP 30.1K, 1 PCNT, 1/10W, THICK FILM, 0805, R53
RE-236001-GP 36K, 1 PCNT, 1/10W, RMG, 0805, R544
RE-239204-GP 39.2K, 1 PCNT, 1/10W, THICK FILM, 0805, R555, R570, R581
RE-243001-GP 43K, 1 PCNT, 1/10W, RMG, 0805, R524
RE-247006-GP 47K 1% 1/10W THK FLM 0805 100V R554, R69, R76
RE-251001-GP 51K, 1 PCNT, 1/10W, RMG, 0805, R563
RE-291001-GP 91K, 1 PCNT, 1/10W, RMG, 0805, R583
RE-310007-GP 100K 1% 1/10W THK FLM 0805 R569, R574
RE-310008-GP 100K 1% 1/8W THK FLM 1206 R10, R31, R83, R92
RE-315006-GP 150K, 1 PCNT, 1/10W, THICK FILM, 0805, R536, R553
RE-320006-GP 200K, 1 PCNT, 1/10W, THICK FILM, 0805, R590
RE-349901-GP 499K 1% 1/8W THICK FILM 1206 R82

RE-410003-GP

1M 1% 1/10W RMG 0805

R13, R55, R84, R99

SC-000081-GP

T3X8MM, SELF TAPPING, , , ,

SC-000082-GP

SCREW, BIND, HEAD, M3.2 X 8, , B-TITE,

SC-000083-GP

SCREW, BIND, HEAD, M3.5 X 16, , B-TITE,

SC-000084-GP

SCREW, BIND, SERRATED HEAD, M4X25, B-TITE,

SC-000085-GP

SELF SCREW, 3X8, WITH, SERRATED HEAD, , ,

SC-000086-GP

SCREW, M8X101.5,BZ, , , ,

SC-030002-GP

M3 B-TITE FLAT-CS

SC-030004-GP

M3 X 8 BLK MACHINE

SC-040001-GP

SCREW M4-18 X 10MM, BLK ZN

SW-000088-GP

ROCKER POWER SWITCH

HNmNHOme@bHHNbND—‘D—\wb—lwb—\D—IND—‘D—\D—lbb—‘NNND—‘WND—‘D—‘@BNND—‘D—INHO)MHO’D—\Nb—lb—‘D—\L\)Nmb—\HHNHS&HNN&HBNHHN@HNN&H%




WP-

181001-02 230V Rev. A

Part Number Description Oty Ref Des
SW-000119-GP  |CIRCUIT BREAKER, 3A, 230V, HPR, 1
SW-000122-GP  |SWITCH, 1P2T, 1 [sws02
SW-000123-GP  [SWITCH, 2P2T, , 1 |sws01
WC-000188-GP  |SLEEVE, PVC, 5MM ID, BLK 1
WC-000339-GP | JUMPER, BARE, 18GA, SOLID, HPR, , 8 |W1, W2, W3, W4, W5, W6, W7, W8
WC-000410-GP  |UL1672, AWG#18, BROWN, , , ,, 1
WC-000411-GP  |UL1672, AWG#18, BLUE, , , ,, 1
WC-000412-GP  |GRND WIRE, UL1015 #14, , , ,, 1
WC-000413-GP  |WIRE-FLAT, 10P P15 #26, , , , , 3 3507, J508B, J510
WC-000423-GP | SHRINKAGE TUBE, ID=6MM, UL, ,,,, 7
XF-000294-GP  |[POWER TRANSFORMER, 230V, , , , HPR SERIES, , 1






